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Answer any three questions:
a) Explain different meanings of the verb ‘to know’. ‘I know that P’— What are the conditions to be

fulfilled to establish this statement? [5+10]
b) Explain Empiricism as the theory of origin of knowledge.

Examine how far this theory is acceptable. [10+5]
c) Explain Interactionism regarding the relation between mind and body. Examine the acceptability of

this theory. [10+5]
d) What is the relation of entailment? ‘There is a relation of entailment between cause and effect’—

Critically explain this view. Who are the supporters of this view? [3+10+2]
e) What is utilitarianism? Explain and examine Mill’s utilitarianism. [5+10]
f)  Why is a criminal punished? Answer with reference to the different theories of punishment. [15]
Answer any six questions : [5%6 = 30]

a) Distinguish, with example, between moral and non-moral action.

b) Explain, after Bentham, the hedonistic calculus.

C) “There is necessary connection between cause and effect.”— How does Hume reject this view?
Explain.

d) Do you support capital punishment? Justify your answer.

e) Give a brief sketch of Descartes’s view of the source of Ideas.

f) Explain Berkeley’s view of the origin of knowledge.

g) Discuss the views of Extreme and Moderate forms of Rationalism.

h) What is the meaning of the word ‘identity’ in identity theory about mind-body relation?

i) Is killing of animals morally justified?

AT

@ (& [ eits@ Tea nies [15%1 = 15]
F) ‘T feismba [{fen s @ 791 i @ @ - @2 3ol ofofrs Far o @ @R =S sFe Fa0e

A [5+10]
q) @I T AR Sfwerem i< 9 | G2 o] FovE SRe) O Kb 5 | [10+5
a)  (R-SR T R - elfefemaam e <91 @B oo arecre! [ 4 | [10+5
q)  2PIfG 7T FICE A2 TR S SRR N DG T7F g, G2 TOIIWR AIEE 171 79 | G2 T 7L

(3 A PRI ? [3+10+2]
8) TSR FETce [F @R 2 R Ssicaam e ¢ [{eE 94 | [5+10]
) GG SPRITRE % [ T3t 77 @ 2 «if% ame /e sren s ua Sea wis | [15]
@ (P D &3 Ted wiss [5%6 = 30]

F) TRITAZ (e @ St fawig Wy #\iefs 99 |
q) (@B SRPRE FCE LA sioloiae 145 79 |




1)
)
©)

)
D

TR S FI N ARMIF 79 AR - RO f[FOI@ G2 T&) 4T FE0= 2 i 4 |
of & Tgme 7w 39 ? THER 70 I 7S |

IO T TACE (FICSA N0 e 2/ 5% wie |

I T T AFE TS 17 3597 |

BANZT @ ST IR €< S 9 |

(MZ-T MRS SfeTorRy wfoqel sl oief 52

Aoz s (AE iRy & ey 2




